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  (2) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û ¼Ûé Ü¶Û¼Û×µÛ ÅÛ”ÛÛé.  

 

1. •ÛÛ×µÛàœ÷¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé  

 

2. ÜÈÛïõÍÛ©ÛÛ þéùÉÛÛé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× …ÛÁõÛé•ýÛ¶Ûä× …¬ÛÙÉÛÛÍªÛ 

 

3. …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ×½Û×¦øÛéÇ (IMF), ÜÈÛÊÈÛ ¼Ûêïõ (WB) …¶Ûé …éÜÉÛýÛ¶Û ÜÈÛïõÛÍÛ ¼Ûêïõ (ADB) 

 

4. ¸ÛóÛþéùÜÉÛïõ ÈýÛÛ¸ÛÛÁõ¶ÛÛ ïõÁõÛÁõÛé (¶ÛÛºõ¤øÛ, ÍÛÛºõ¤øÛ …¶Ûé ˆ.ýÛä.) 
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Instructions :  (1) All essays carry equal marks. 

   (2) Write any two essays from the following. 

 

1. Gandhian Economic Thoughts 

 

2. Economics of Health with Reference to Developing Economies 

 

3. International Monetary Fund (IMF), World Bank (WB) and Asian Development Bank 

(ADB) 

 

4. Regional Trade Agreements : (NAFTA, SAFTA and E.U.) 

__________ 
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1. •ÛÜ¨Û©Û¼Û± …¬ÛÙÉÛÛÍªÛ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûä× ÍÈÛÄõ¸Û …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ˜Û˜ÛÛë. 14 

                  …¬ÛÈÛÛ  

 (a) ÍÛ¾ÛàïõÁõ¨ÛÛé¶ÛÛ ¸ÛóïõÛÁõÛé ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé.  

 (b) ÍÛäÁéõ”ÛÛ¶ÛÛ §øÛÇ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

 

2. ÜÈÛµÛéýÛ …é¤øÅÛé ÉÛä× ? …ÛÈÛïõ ÜÈÛµÛéýÛ, ”Û˜ÛÙ ÜÈÛµÛéýÛ …¶Ûé Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

                     …¬ÛÈÛÛ 

 (a) ïõÛé¼ÛÕ-¦Õø•ÅÛÛÍÛ Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ ˜Û˜ÛÛë.  

 (b) ›Ûé f(x) = 5x
2 – 5, x < 2 

    = 10x – 5, x = 2 

    = 8x – 1, x > 2 

  ÐüÛéýÛ, ©ÛÛé x = 2 …Û•ÛÇ ÜÈÛµÛéýÛ¶Ûä× ÍÛÛ©Û©ýÛ ˜ÛïõÛÍÛÛé.  

 

3. ›Ûé R = aQ – bQ2 ïäõÅÛ …ÛÈÛïõ ÜÈÛµÛéýÛ ÐüÛéýÛ, ©ÛÛé ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ, ÍÛà¾ÛÛ¶©Û …ÛÈÛïõ …¶Ûé ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛ 

¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 








MR = AR 






e – 1

e
 þùÉÛÛÙÈÛÛé.  14 

     








šýÛÛ×, R = ïäõÅÛ …ÛÈÛïõ, Q = Š©¸ÛÛþù¶Û,

MR = ÍÛà¾ÛÛ¶©Û …ÛÈÛïõ, AR = ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ
e = ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ ™öé.

 

…¬ÛÈÛÛ 
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 (a) ›Ûé f(x) = 10 – 2x ÍÛà¾ÛÛ×©Û ©ÛäÜÌ¤ø•Ûä̈ Û ÜÈÛµÛéýÛ ÐüÛéýÛ …¶Ûé ÈÛÍ©Ûä¶Ûà Ýïõ¾Û©Û ` 2 ÐüÛéýÛ, ©ÛÛé •ÛóÛÐüïõ¶ÛÛé 
ÜÈÛÉÛéÌÛ ÍÛ×©ÛÛéÌÛ ÉÛÛéµÛÛé.  

 (b) 
dy

dx
 ÉÛÛéµÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 

  (i) y = (5x + 7) (2x
2 + 2) 

  (ii) y = 
x

2 + 2x + 1

x + 1
 

  (iii) y = x + 
1

x
 

  (iv) y = 3x
2 + 2x + 1 

  (v) y = ex 

  (vi) y = logex 

 

4. ÍÛ¾Û•ÛóÅÛ“Ûà …ÛÜ¬ÛÙïõ ¾ÛÛé¦éøÅÛ ýÛÛé•ýÛ ŠþùÛÐüÁõ¨Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 14 

        …¬ÛÈÛÛ  

 (a) D = 100 – 5P 

  S = –50 + 5P 

  D ≡ S   (šýÛÛ× D = ¾ÛÛ×•Û, S = ¸ÛäÁõÈÛ¥øÛé, P = Ýïõ¾Û©Û) 

  …Û ¼Û›ÛÁõ ¾ÛÛé¦éøÅÛ ¾ÛÛ¤éø ÍÛ¾Û©ÛÛéÅÛà©Û ¼Û›ÛÁõÝïõ¾Û©Û, ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛé ÉÛÛéµÛÛé.  

 (b) ÍÛ¾Û©ÛäÅÛÛ ¸ÛÁõ ïõÁõÈÛéÁõÛ¶Ûà …ÍÛÁõ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.  

 

5. ¶Ûà˜Ûé¶ÛÛ ¸Ûó©ýÛéïõ ¸ÛóÊ¶Û¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà ”ÛÁõÛé …¶Ûé …ÛþùÉÛÙ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : 14 

 [¼ÛÐäüÈÛíéïõÅ¸Ûàïõ ¸ÛÍÛ×þù•Ûà¶ÛÛ ¸ÛóÊ¶ÛÛé – ¸Ûó©ýÛéïõ¶ÛÛé 1 •Ûä̈ Û] 

 (1) ax
2 + bx + c = 0 ïõýÛÛ ¸ÛóïõÛÁõ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ™öé ? 

  (a) Ü³ù–ÛÛ©Û  (b) ÍÛäÁéõ”Û 

  (c) ÈÛ©ÛäÙÇ  (d) …¶ýÛ  

 (2) (10, 1) …¶Ûé (20, 3) …Û Ý¼Ûþäù…Ûé¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬ÛÛýÛ ©ÛéÈÛà ÍÛäÁéõ”ÛÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ÉÛÛéµÛÛé.  

  (a) y = 0.2 x + 1 (b) y = 0.2 x – 1 

  (c) y = 0.4 x + 1 (d) y = 0.4 x – 1 

 (3) y = 0.4x + 1 ÍÛäÁéõ”ÛÛ¶ÛÛé §øÛÇ = ? 

  (a) 1  (b) 0.2 

  (c) 0.1  (d) 0.4 
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 (4) lim
x → 1 

3x + 5

4x – 2
 = _______ 

  (a) 4  (b) 8 

  (c) 6  (d) 2 

 (5) D = 10 – 2P ¾ÛÛ×•ÛÜÈÛµÛéýÛ¾ÛÛ× ›Ûé Ýïõ¾Û©Û (P) = 1 ` ÐüÛéýÛ, ©ÛÛé ¾ÛÛ×•Û (D) = ________ 

  (a) 12  (b) 7 

  (c) 8  (d) 10 

 (6) ›Ûé Ýïõ¾Û©Û = 5 ` …¶Ûé ¾ÛÛ×•Û = 500 …éïõ¾Û ÐüÛéýÛ, ©ÛÛé ïäõÅÛ …ÛÈÛïõ = _________ 

  (a) 2500  (b) 2000 

  (c) 1500  (d) 1000 

 (7) ›Ûé C = 50Q – 6Q2 + Q3 ïäõÅÛ ”Û˜ÛÙ ÜÈÛµÛéýÛ ÐüÛéýÛ, ©ÛÛé ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÜÈÛµÛéýÛ = ________    

[šýÛÛ× C = ”Û˜ÛÙ, Q = Š©¸ÛÛþù¶Û] 

  (a) 50 – 6Q + Q2 (b) 50Q – 12Q2 + 3Q3 

  (c) 50 – 12Q + 3Q2 (d) 50 – 12Q2 – 3Q3 

 (8) ›Ûé U = 12x – x2 ©ÛäÜÌ¤ø•Ûä̈ Û ÜÈÛµÛéýÛ ÐüÛéýÛ, ©ÛÛé ÍÛà¾ÛÛ×©Û ©ÛäÜÌ¤ø•Ûä̈ Û ÜÈÛµÛéýÛ = _________ 

  (a) 12 – 2x (b) 12x – 2x 

  (c) 12x – 2x
2 (d) 2x

2 

 (9) ÍÛ×ïõÅÛ¶Û ïõÁõÛé : 

  
⌡

⌠

 






x

2 – 25

x + 5
 dx 

  (a) x – 5 + c (b) x + 5 + c 

  (c) 
x

2

2
 – 5x + c (d) 

x
2

4
 – 5x + c 

 (10) ¶Ûà˜Ûé …éïõ ÍÛÛþä×ù ÍÛ¾Û•ÛóÅÛ“Ûà ¾ÛÛé¦éøÅÛ …Û¸ÛéÅÛä× ™öé : 

  C = 200 + 0.8y 

  I = 400 

  Y ≡ C + I  šýÛÛ× C = ÈÛ¸ÛÁõÛÉÛ, Y = …ÛÈÛïõ, I = ¾Ûæ¦øàÁõÛéïõÛ¨Û 

  ©ÛÛé Y¶Ûà ÍÛ¾Û©ÛäÅÛà©Û Ýïõ¾Û©Û ÉÛÛéµÛÛé. 

  (a) 2000   (b) 1000 

  (c) 3000   (d) 4000 
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 (11) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¼Û›ÛÁõ ¾ÛÛé¦éøÅÛ¶Ûà ÍÛ¾Û©ÛäÅÛà©Û ¾ÛÛ×•Û : 

  D = 5000 – 2P 

  S = –200 + 2P 

  D ≡ S 

  (a) 2400   (b) 2600 

  (c) 1300   (d) 2500 

 (12) ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé …ÛÜ¬ÛÙïõ ¾ÛÛé¦éøÅÛ¾ÛÛ×  

  (a) …Û×©ÛÜÁõïõ ˜ÛÅÛÁõÛÜÉÛ…Ûé  > ÍÛ¾ÛàïõÁõ¨ÛÛé¶Ûà ÍÛ×”ýÛÛ  

  (b) …Û×©ÛÜÁõïõ ˜ÛÅÛÁõÛÜÉÛ…Ûé < ÍÛ¾ÛàïõÁõ¨ÛÛé¶Ûà ÍÛ×”ýÛÛ 

  (c) …Û×©ÛÜÁõïõ ˜ÛÅÛÁõÛÜÉÛ…Ûé = ÍÛ¾ÛàïõÁõ¨ÛÛé¶Ûà ÍÛ×”ýÛÛ 

  (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 

 (13) ⌡
⌠.

.
ex dx = ________ 

  (a) logex  (b) x
n 

  (c) 
ax

logea
  (d) ex 

 (14) ›Ûé y = xn ÐüÛéýÛ, ©ÛÛé 
dy

dx
 = ________ 

  (a) nx
n – 1 (b) x

n – 1 

  (c) 
x

n + 1

n + 1
  (d) ∞ 

___________ 

 

 

  



NF-115 7 P.T.O.  

Seat No. :  _______________ 
  

NF-115 
December-2015 

B.A., Sem.-V 

CC-305 : Economics 

(EB : Mathematical Economics) 

 
Time :  3 Hours]  [Max. Marks : 70 

 

1. What is Mathematical Economics ? Discuss its nature and limitations. 14 

                  OR 

 (a) Write short note on types of Equations. 

 (b) Write short note on Slope of Straight Line. 

 

2. What is function ? Explain concepts of Revenue function, Cost function and Production 

function.   14 

                                           OR 

 (a) Discuss Cobb-Douglas production function. 

 (b) If f(x)  = 5x
2 – 5, x < 2 

    = 10x – 5, x = 2 

    = 8x – 1, x > 2 

  Test the continuity of the function at x = 2. 

 

3. If R = aQ – bQ2 is total revenue function, then show the relationship between average 

revenue, marginal revenue and elasticity of demand 








MR = AR 






e – 1

e
. 14 

     






where, R = Total Revenue, Q = Production
MR = Marginal Revenue, AR = Average Revenue
e = elasticity of demand

 

OR 
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 (a) If f(x) = 10 – 2x is marginal utility function and price of commodity is ` 2, then 

find consumer’s surplus. 

 (b) Find 
dy

dx
 : (any three) 

  (i) y = (5x + 7) (2x
2 + 2) 

  (ii) y = 
x

2 + 2x + 1

x + 1
 

  (iii) y = x + 
1

x
 

  (iv) y = 3x
2 + 2x + 1 

  (v) y = ex 

  (vi) y = logex 

 

4. Explain Macro Economic model with the help of an example. 14 

        OR 

 (a) D = 100 – 5P 

  S = –50 + 5P 

  D ≡ S   (where D = Demand, S = Supply, P = Price) 

  Find Equilibrium Price, Demand and Supply for this market model. 

 (b) Write short note on effect of tax on equilibrium. 

 

5. Choose the most correct and ideal answer from the each question of the following : 

 [Multiple choice questions – each question carry 1 mark] 14 

 (1) Which type of equation ax
2 + bx + c = 0 is ? 

  (a) Quadratic  (b) Linear 

  (c) Circle (d) Other 

 (2) Find out the straight line equation which is passing through points (10, 1) and            

(20, 3). 

  (a) y = 0.2 x + 1 (b) y = 0.2 x – 1 

  (c) y = 0.4 x + 1 (d) y = 0.4 x – 1 

 (3) The slope of the straight line y = 0.4 x + 1 is = ? 

  (a) 1  (b) 0.2 

  (c) 0.1  (d) 0.4 
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 (4) lim
x → 1 

3x + 5

4x – 2
 = _______ 

  (a) 4  (b) 8 

  (c) 6  (d) 2 

 (5) If in demand function D = 10 – 2P, the value of Price (P) = 1 `, then demand           

(D) = ________ 

  (a) 12  (b) 7 

  (c) 8  (d) 10 

 (6) If price = 5 ` and demand = 500 units, then total revenue = _________ 

  (a) 2500  (b) 2000 

  (c) 1500  (d) 1000 

 (7) If C = 50Q – 6Q2 + Q3 is total cost function, then marginal cost function = 

________ [where C = Cost, Q = Production] 

  (a) 50 – 6Q + Q2 (b) 50Q – 12Q2 + 3Q3 

  (c) 50 – 12Q + 3Q2 (d) 50 – 12Q2 – 3Q3 

 (8) If U = 12x – x2 is utility function, then marginal utility function = _________ 

  (a) 12 – 2x (b) 12x – 2x 

  (c) 12x – 2x
2 (d) 2x

2 

 (9) Do Integration : 

  
⌡

⌠

 






x

2 – 25

x + 5
 dx 

  (a) x – 5 + c (b) x + 5 + c 

  (c) 
x

2

2
 – 5x + c (d) 

x
2

4
 – 5x + c 

 (10) A simple macro model is given as below : 

  C = 200 + 0.8y 

  I = 400 

  Y ≡ C + I  where C = Consumption, Y = Income, I = Investment 

  Find equilibrium price of Y 

  (a) 2000   (b) 1000 

  (c) 3000   (d) 4000 
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 (11) Equilibrium demand of the following model is  

  D = 5000 – 2P 

  S = –200 + 2P 

  D ≡ S 

  (a) 2400   (b) 2600 

  (c) 1300   (d) 2500 

 (12) Generally in Economic model 

  (a) Endogenous Variables > Number of Equations 

  (b) Endogenous Variables < Number of Equations 

  (c) Endogenous Variables = Number of Equations 

  (d) None of the above 

 (13) ⌡
⌠.

.
ex dx = ________ 

  (a) logex  (b) x
n 

  (c) 
ax

logea
  (d) ex 

 (14) If y = xn, then 
dy

dx
 = ________ 

  (a) nx
n – 1 (b) x

n – 1 

  (c) 
x

n + 1

n + 1
  (d) ∞ 

___________ 
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1. (a) ÁõÛé¼Û¤Ùø ¾ÛÛÅ¬ÛÍÛ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé. 7 

                        …¬ÛÈÛÛ 

  ¸ÛóÜÉÛÌ¤ø …¬ÛÙÉÛÛÍªÛà ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë¶ÛÛ …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  

 (b) …ÍÛ×©ÛäÜÅÛ©Û ÜÈÛïõÛÍÛ …é¤øÅÛé ÉÛä× ? ÐüÌÛÙ¾Ûé¶Û¶ÛÛ …ÍÛ¾Û©ÛäÜÅÛ©Û …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ¾ÛÛé¦éøÅÛ¶Ûà ¤øàïõÛ©¾Ûïõ 
˜Û˜ÛÛÙ ïõÁõÛé.  7 

…¬ÛÈÛÛ 

  …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¦øÛé¾ÛÁõ¶Ûä× ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé. ½ÛÛÁõ©Û ›÷éÈÛÛ ÜÈÛïõÛÍÛÉÛàÅÛ þéùÉÛÛé¾ÛÛ× ©Ûé¶Ûà ¸ÛóÍ©Ûä©Û©ÛÛ 
©Û¸ÛÛÍÛÛé.  

 

2. (a) •ÛÁõà¼Ûà …¶Ûé •ÛÁõà¼Ûà Áéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. ½ÛÛÁõ©Û¾ÛÛ× •ÛÁõà¼Ûà¶ÛÛ ÅÛ“Û¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

…¬ÛÈÛÛ 

  ›÷¶¾ÛþùÁõ …é¤øÅÛé ÉÛä× ? ½ÛÛÁõ©Û¾ÛÛ× ›÷¶¾ÛþùÁõ ‹˜ÛÛé ÐüÛéÈÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé …¶Ûé ÈÛÍ©Ûà ÈÛèÜ±ù¶Ûà …ÛÜ¬ÛÙïõ 
…ÍÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

 (b) ¸ÛýÛÛÙÈÛÁõ¨Û¾ÛÛ× ¸ÛóþæùÌÛ¨Û¶ÛÛé …¬ÛÙ …Û¸ÛÛé. ©Ûé¶ÛÛ ïõÛÁõ¨ÛÛé …¶Ûé ¸ÛóïõÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

                      …¬ÛÈÛÛ 

  …Û¼ÛÛéÐüÈÛÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ÜÈÛÜÈÛµÛ …ÍÛÁõÛé¶Ûà ÜÈÛÍ©Ûè©Û ˜Û˜ÛÛÙ ïõÁõÛé.  

 

3. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ (ïõÛé̂ ¸Û¨Û ˜ÛÛÁõ) 16 

 (1) ¤øïõÛŠ ÜÈÛïõÛÍÛ  

 (2) ›÷íéÈÛ ÈÛíéÜÈÛµýÛ©ÛÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  

 (3) •ÛÁõà¼Ûà¶Ûä× ÜÈÛÌÛ˜Û’õ  

 (4) ½ÛÛÁõ©Û¾ÛÛ× ¼ÛéïõÛÁõà¶ÛÛ ¸ÛóïõÛÁõÛé  

 (5) ÍÛ¾Û©ÛÛéÅÛ ÜÈÛïõÛÍÛ¶Ûä× Áõ•¶ÛÛÁõ ¶ÛïÙõÍÛé¶Ûä× ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé.  

 (6) …ÛÈÛïõ¶Ûà …ÍÛ¾ÛÛ¶Û©ÛÛ¶ÛÛ ¾ÛÛ¸Ûþ×ù¦øÛé ÍÛ¾Û›ÛÈÛÛé.  
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4. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× …éïõ-¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 12 

 (1) ïõÛ¼ÛÙ¶Û ’éõÜ¦ø¤ø …é¤øÅÛé ÉÛä×  ? 

 (2) …´ùÉýÛ ÐüÛ¬Û …é¤øÅÛé ÉÛä× ? 

 (3) SOC …¶Ûé DPA ¶Ûä× …Û”Ûä× ¶ÛÛ¾Û ÐüÌÛÙ¾Û¶Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÅÛ”ÛÛé.  

 (4) ¾Ûæ¦øà ÍÛ×̃ ÛýÛ …é¤øÅÛé ÉÛä× ? 

 (5) ÜÈÛïõÛÍÛ¶ÛÛ ¸ÛóÛïèõÜ©Ûïõ þùÁõ¶ÛÛé ”ýÛÛÅÛ ïõÛé̈ Ûé …Û¸ýÛÛé ™öé ? 

 (6) Ü¶ÛÁõ¸Ûé“Û •ÛÁõà¼Ûà …é¤øÅÛé ÉÛä× ? 

 (7) ™æö¸Ûà ¼ÛéïõÛÁõà …é¤øÅÛé ÉÛä× ? 

 (8) ÈÛíéÜÊÈÛïõ ©ÛÛ¸Û¾ÛÛ¶Û¾ÛÛ× ÈÛµÛÛÁõÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé.  

 

5. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ›Ûé¦øïõÛ× ›Ûé¦øÛé : 4 

       A B 

(1) GC = S – îÅÛÛéÁõÛé¹ÅÛäÁõÛéïõÛ¼ÛÙ¶Û 

(2) •ÛÁõà¼Ûà¶Ûä× ÜÈÛÌÛ˜Û’õ  – ÁõÛé¼Û¤Ùø ¾ÛÛÅ¬ÛÍÛ  

(3) ÈÛÍ©Ûà¶ÛÛé ÜÍÛ±ùÛ×©Û  – ÈÛÛÍ©ÛÜÈÛïõ ÈÛèÜ±ùþùÁõ  

(4) …Ûé¡öÛé¶Û ÈÛÛýÛä¶Ûä× ¸Û¦ø  – Áõ•¶ÛÛÁõ ¶ÛîÍÛë 

 (b) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ÍÛÛ˜ÛÛ× ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé : (ïõÛéé̂ ¸Û¨Û ªÛ¨Û) 3 

  (1) ¸Ûó̃ ™ö¶¶Û ¼ÛéïõÛÁõ¶Ûà ÍÛà¾ÛÛ×©Û Š©¸ÛÛþùïõ©ÛÛ ÉÛæ¶ýÛ ÐüÛéýÛ ™öé.  

  (2) ‘ÁõÛÌ¤ÖøÛé¶Ûà ÍÛ×̧ ÛÜ©Û’ ¸ÛäÍ©Ûïõ ÜÁõïõÛ¦øÛë…é ÅÛ”ýÛä× ™öé.  

  (3) ¸Ûè¬ÈÛà¶Ûà ºõÁõ©Ûé …Ûé¡öÛé¶Û ÈÛÛýÛä¶Ûä× ¸Û¦ø …ÛÈÛéÅÛä× ™öé.  

  (4) ÐéüÁõ¦ø …¶Ûé ¦øÛé¾ÛÁéõ …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûà ¸ÛóÜ’õýÛÛ¾ÛÛ× ¾Ûæ¦øàÁõÛéïõÛ¨Û¶Ûé ˜ÛÛÈÛà¶Ûà ½ÛæÜ¾ÛïõÛ …Û¸Ûà ™öé.  

 (c) ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 3 

  (1) ÅÛÛéÁéõ¶ÍÛ ïõÈÛÙ _________¶Ûä× ¾ÛÛ¸Û¶Û ïõÁé ™öé.  

  (2) •ÛÁõà¼Ûà Áéõ”ÛÛ¶ÛÛé ÍÛÛíȩ́ Ûó¬Û¾Û ”ýÛÛÅÛ _________…é …Û¸ýÛÛé Ðü©ÛÛé.  

  (3) ‘¸Ûè¬ÈÛà ¸ÛÜÁõÌÛþù’¶Ûä× …ÛýÛÛé›÷¶Û ˆ.ÍÛ. _________¾ÛÛ× ¬ÛýÛä× Ðü©Ûä×.  
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 (d) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 4 

  (1) ¾Ûæ¦øà ÍÛ×̃ ÛýÛ …é ÉÛÛ¶Ûä× ¸ÛÜÁõ¨ÛÛ¾Û ™öé ? 

   (a) ”Û˜ÛÙ  (b) ¼Û˜Û©Û 

   (c) ÈýÛÛ›÷  (d) ¶ÛºõÛé  

  (2) ÍÛÛ¾ÛÛÜ›÷ïõ ³íéù©ÛÈÛÛþù¶ÛÛé ”ýÛÛÅÛ …Û¸ýÛÛé ™öé.  

   (a) ¼ÛÛéïéõ  (b) Ðüà•Ûà¶ÍÛ  

   (c) Ý¾Û¤ø  (d) ïéõ¶ÍÛ  

  (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¸ÛóþæùÌÛ¨Û ¾ÛÛ¶ÛÈÛÍÛÜ›÷Ù©Û ¶Û¬Ûà ? 

   (a) þùÜÁõýÛÛˆ ¸ÛóþæùÌÛ¨Û  (b) ÜïõÁõ¨ÛÛé©ÍÛ•Ûâ ¸ÛóþæùÌÛ¨Û  

   (c) šÈÛÛÇÛ¾Ûä”Ûà ¸ÛóÍºõÛé¤ø¶Û  (d) ¬Û¾ÛÙÅÛ ¸ÛóþæùÌÛ¨Û  

  (4) ÜÈÛïõÜÍÛ©Û þéùÉÛÛé¾ÛÛ× ¾Ûä”ýÛ©ÈÛé ›ÛéÈÛÛ ¾ÛÇ©Ûà ¼ÛéÁõÛé›÷•ÛÛÁõà  

   (a) –ÛÌÛÙ̈ Û›÷¶ýÛ  (b) ˜Û’õàýÛ  

   (c) ¾ÛÛÇ”ÛÛïõàýÛ  (d) ¾ÛÛéÍÛ¾Ûà  

______________ 
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1. (a) Critically discuss the Robert Malthus’ theory of economic growth. 7 

                        OR 

  Explain the David Recardo’s theory of economic growth in detail. 

 (b) What is unbalance growth ? Critically evaluate the Hirschman’s theory of 

unbalance growth. 7 

OR 

  Explain the Domar’s model of economic growth. Examine its relevance in 

developing country like India. 

 

2. (a) Explain the concept the poverty and poverty line and discuss the characteristics of 

poverty in developing country like India. 7 

OR 

  What is birth rate ? Discuss the causes of high birth rate and economic impact of 

population growth in India. 

 (b) Give the meaning of pollution and discuss the types and causes of pollution. 7 

                      OR 

  What is climate change ? Discuss its various impacts in detail 

 

3. Write short note : (any four) 16 

 (1) Sustainable development 

 (2) Explain the concept of bio-diversity 

 (3) Vicious circle of poverty 

 (4) Types of unemployment in India. 

 (5) Explain the Ragnar Nurkse’s model of balance growth. 

 (6) Describe the measurement of income inequality. 
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4. Answer the following questions in one or two sentences : 12 

 (1) What is carbon credit ? 

 (2) What is Invisible hand ? 

 (3) Give full form of SOC and DPA in terms of Hirschman’s theory. 

 (4) What is Capital Accumulation ? 

 (5) Who has given the concept of Natural rate of development ? 

 (6) What is absolute poverty ? 

 (7) What is disguised unemployment ? 

 (8) Give the meaning of Global warming. 

 

5. (a) Match the column A with B : 4 

       A B 

(1) GC = S – Chlorofluorocarbons 

(2) Vicious circle of poverty – Robert Malthus 

(3) Theory of population – Real growth rate 

(4) Ozone layer – Ragnar Nurkse 

 (b) State the following statements are true-false : (any three) 3 

  (1) Disguised unemployment implies zero marginal productivity of labour. 

  (2) The book ‘Wealth of Nations’ written by David Recardo. 

  (3) The earth is covered with ozone layer. 

  (4) Harod and Domar assign a key role to the investment in the process of 

economic growth. 

 (c) Fill in the blanks : 3 

  (1) Lorence curve measures _________. 

  (2) The concept of poverty line introduced by _________. 

  (3) ‘Earth Summit’ was held in _________. 
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 (d) Answer the questions by choosing appropriate option : 4 

  (1) Capital Accumulation is consequence of : 

   (a) Expenditure (b) Saving 

   (c) Interest (d) Profit 

  (2) The concept of social dualism was introduced by _______. 

   (a) Boeke (b) Higgins 

   (c) Myint (d) Keynes 

  (3) Which of the following pollution is not man-made ? 

   (a) Marine pollution (b) Radio-active pollution 

   (c) Volcano eruption (d) Thermal pollution 

  (4) The unemployment found mainly in developed countries 

   (a) Frictional (b) Cyclical 

   (c) Structural (d) Seasonal 

______________ 


